Theoretical Mechanics

09310023

72
2.5

2.1

1.2






— o ™ < !



N

o A~ w NP

o M w NP

(force)

rigid body

equilibrium



— o ™ <

—i



— o ™ <

—i



— o ™ < — o ™o < w1






3.
1.
2.
+
ai a as
a1=10% a»=10% a3=10% 100
as=70%
100% = ap + az as
as
3
a1 100 1
a 100 1
4
as 100 1

as

100

100




Ai

Bi i OA; i
OB; i yi i
S Si i
OA1-1=40 A1
04 OA2=40 Ar2 5o AATaA,taA,raB
' OA1_3:40 A1-3 a10A14 + aQOAkz + aSOAl—:i + aAOBl
0OB1=40 B1
OA21=60 Az
06 OA2-2=60 Az _ aA +a,A ,+3,A +3,B,
. 2
0As=60 | Ao AR+ 8,0h ; +8,0” 5 +a,08,
OB,=60 B2
) 2
%, =10 100 S=).7S

100




https://www.icourse163.org/course/HIT-1001516003

https://www.icourse163.org/search.htm?search=%E7%90%86%E8%AE%BAY%ES
%8A%9B%ES%ADY%A6GH/

2023 6


https://www.icourse163.org/course/HIT-1001516003
https://www.icourse163.org/search.htm?search=%E7%90%86%E8%AE%BA%E5%8A%9B%E5%AD%A6#/
https://www.icourse163.org/search.htm?search=%E7%90%86%E8%AE%BA%E5%8A%9B%E5%AD%A6#/

